Basestealing Chart

Double Steal: If defense throws for trail runner, lead runner automatically steals base.

Steal of 2nd | AA+ | AA | AA- | A+ A A- B+ B B- C+ C C- D+ D E

Steal of 3rd AA+ | AA | AA- | A+ A A- B+ B B- C+ C <=C-

Steal Home AA+ | AA | AA- | A+ A A- B+ B <=B-

SB, Error? 11-48|11-44(11-38(11-28(11-28|11-28| 11-23| 11-18| 11-18| 11-14| 11-14| 11-14

Hold 31-48| 31-44| 31-38 | 24-47| 21-44 | 21-38 | 15-48 [ 15-44 | 15-38| 11-38| 11-34 | 11-28

CS, Error? 45-48| 41-48 45-48| 41-48| 48 |45-48|41-48 45-48| 41-48 | 41-48 | 35-48 | 31-48
Hold: A Hold:B Hold:C

SB, Error? 51-58 51-64

Pick-Off? 51-58 61-64 65

Pick-Off? 61-67 65-67 66-67

BALK? 68 68 68

Steal 2B/3B TA+ TA B TC TC-

Steal Home CD:5 CD:4 CD:3 CD:2 CD:1

SB 71-74 71-78 71-84 71-86

CS 71-88 75-88 81-88 85-88 87-88

SB Baserunner steals the next base.

CS Baserunner is thrown out at base. At 2B (2-6 if batter is LH, 2-4 if RH). At 3B (2-5). At home (1-2).

Hold Batter can't get a good lead. He cannot attempt to steal again during this batter.

Pick-Off? If Hold rating is red or black, runner picked-off. At 1B (1-3). At 2B (1-6). At 3B (1-5).Otherwise runner holds

Pick-Off? If Hold rating is red, runner picked-off. At 1B (1-3). At 2B (1-6). At 3B (1-5).Otherwise runner holds

BALK? Possible Balk, check the BALK? Chart and pick a new RN.

SB, Error? |Runner steals base, if catcher's E rating is in the next FAC "Error:" range, runner takes one extra base. E2

CS, Error? |Runner caught stealing unless SS(vsLH) or 2B(vsRH) E rating is in next FAC "Error", runner safe on E6/E4.

88 When an 88 is drawn, check runner and player fielding the throw for injury after the play is resovled.

If Infield is in, or corners are in, reduce SAC rating by one grade

SAC Rating Result
AA BB CC DD Bunting with runner on 1st or 2nd Squeeze Bunt, runner on 3B
11-18 | 11-15 | 11-14 | 11-12 |Sacrifice, runner advance, batter out 1-4. Perfect Squeeze, runners advance, batter out 5-4.
21-28 | 16-23 | 15-16 | 13-14 |Sacrifice, runner advance, batter out 2-4. 3Bman can retire batter or DEFENSIVE OPTION at home.
31-38 | 24-31 | 17-24 | 15-16 |Sacrifice, runner advance, batter out 3-1. 1Bman can retire batter or DEFENSIVE OPTION at home.
41-58 | 32-48 | 25-38 | 17-18 |Sacrifice, runner advance, batter out 5-3. Pitcher can retire batter or DEFENSIVE OPTION at home.
61-68 | 51-52 41 Great Bunt, runners safe, 3Bman DEFENSIVE OPTION to determine if batter is safe at 1B. SAC if out, 1B if safe.

71-74 | 53-58 | 42-52 | 21-28 |Batter out 5-3 (sac), or DEFENSIVE OPTION on lead runner. |3B can retire batter or DEFENSIVE OPTION (obr-1) at home.
75-77 | 61-64 | 53-58 | 31-38 |Batter out 3-4 (sac), or DEFENSIVE OPTION on lead runner. |1B can retire batter or DEFENSIVE OPTION (obr-1) at home.
78 65-68 | 61-64 | 41-48 |Batter out 1-4 (sac), or DEFENSIVE OPTION on lead runner. |P can retire batter or DEFENSIVE OPTION (obr-2) at home.
81-82 | 71-74 | 65-68 | 51-58 |Batter out 2-4 (sac), or DEFENSIVE OPTION on lead runner. |C can retire batter or DEFENSIVE OPTION (obr-2) at home.

83-84 | 75-78 | 71-76 | 61-68 |Bunt popped up to catcher batter out. Pop out to catcher, runners hold.

85-86 | 81-84 | 77-82 | 71-78 |Bunt popped up to first baseman batter out. Pop out to 1B, runner on third is doubled off.

87-88 | 85-88 | 83-88 | 81-88 [Batter bothces sac, strikeout. Batter K, runner must steal home, Hold/Balk/Pickoff = CS.

Defensive Option Chart Hit and Run Chart Bunting for a Hit
OBR | Out/Error? Safe/Hit Out 2ST(rikes) = H&R off, PB +2 Only use with bases Empty.
A+ 11-18 21-78 81-88 Result hr:2 | hr:1 | hr:0 |Batter may only attempt once per game
A 11-18 21-68 71-88 1b,2b,3b |see baserunning chart DEFENSIVE OPTION
B 11-18 21-58 61-88 HR HR 2B8 | FD8 | SAC 3B P C 1B
C 11-18 21-48 51-88 BB BB G4A | 2ST AA |11-18 |21-28 | 31-38|41-48
D 11-18 21-38 41-88 Even K result] G4A | 2ST K BB [11-16 [17-24 | 25-32] 33-38
E 11-18 21-28 31-88 Odd Kresult| 2ST [K+SB |K+SB | CC |11-14 |15-18 | 21-24] 25-28
F 11-18 21-88 LHB -L6/G6| 1B7 | 1B7 | 1B7 DD [11-12 (13-14 | 15-16]17-18
Modifier: CD:0-1 OBR+1, CD:4-5 OBR-1 RHB - L4/G4| 1B9 1B9 | 1B9 |]All other results are outs, RN ending in
Error? If RN-10 is <= fielder E, fielder throws the Other Lineouts | DP DP DP 1=F5, 2=5-3; 3=F1,; 4=1-3
ball away, all runners advance two bases. All GX GA GA GA 5=F3; 6=3-1; 7=F2; 8=2-3




